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PART II: READING COMPREHENSION                                                      (30 MARKS) 
 
A. Choose the best answer.                                                                  (5x3=15 marks) 
1. D (does not mean the same for all people.) 
2. C (more than everyone else.) 
3. D (are married for a year.) 
4. D (All of the above.) 
5. B (family.) 
 
B. Answer the following questions according to the text.                   (3x3=9 marks) 
 
1. (a) Happy people are healthier: -  they have a stronger immune systems 

                                                       -  and they recover from surgery faster.  

    (b) Happy people also tend to live longer.  

 

2. Cars isolate you from the local community so that your neighbourhood and town  

    centre more often feel like threatening places rather than a positive resource.     

    Television (and to a lesser extent print media) exposes people to violence, bad news  

    and consumer pressures which create fear and discontent. TV watching is also  

    passive and takes away time that could be used for much more satisfying activities.  

 

3. Any three: Exercise, watch their diet, work at caring, loving relationships and give  
                      them the time they need. 
 

C. Explain the following words, in bold in the text, by using one word or a short  
    Phrase, as they are used in the text.                                                 (6x1=6 marks) 
 

1. correlation = connection 

2. discontent =dissatisfaction, unhappiness, displeasure, sadness, gloominess 

3. approaches = comes closer / nearer 

4. former = previous, earlier, past, prior 

5. massive = huge, very big, enormous, immense, substantial, considerable, great, vast 

6. vaguely = slightly, dimly, indistinctly 
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PART III: USE OF ENGLISH                                                                         (30 MARKS) 

 

A. Complete the second sentence so that it has a similar meaning to the first  
     sentence using the word given. Do not change the word given.  (5x2=10 marks) 
 
1. ... had his computer fixed … 

2. … accused me of causing … 

3. … quite as difficult as the students … 

4. … may/might have been sleeping … 

5. … wish I had taken … 

 
B. Use the word given in brackets to form a word that fits the blank.  
                                                                                                                (10x1=10 marks) 
Friendship 
 
(1) shortage  

(2) relationship 

(3) occasional   

(4) latest 

(5) equally 

(6) thoughts 

(7) unconditionally 

(8) unpleasant 

(9) envious 

    (10) hidden 

 

C. Complete the blanks with ONE suitable word.                              (10x1=10 marks) 
 
What our future might be 
 
1. being 
2. which 
3. such 
4. may / might 
5. Unless 
6. although 
7. whose 
8. their 
9. However 

10. into 
 
 


